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Il	
   numero	
  di	
   lavoratori/anno	
   si	
   calcola	
   in	
  maniera	
  diversa,	
   a	
   seconda	
  che	
   il	
   numero	
  degli	
   eventi	
  
infortunistici,	
  verificatisi	
  nello	
  stesso	
  anno	
  e	
  liquidati	
  in	
  temporanea,	
  sia	
  minore	
  o	
  maggiore	
  di	
  10.	
  

Se	
   il	
   numero	
   di	
   infortuni	
   occorsi	
   è	
   <	
   10,	
   il	
   numero	
   di	
   lavoratori/anno	
   si	
   ottiene	
   dividendo	
   le	
  
retribuzioni	
  assicurate	
  per	
   la	
  retribuzione	
  media	
  nazionale.	
  Se	
   il	
  numero	
  degli	
   infortuni	
  è	
  ≤	
  10,	
   il	
  
numero	
   di	
   lavoratori/anno	
   	
   si	
   ottiene	
   dividendo	
   le	
   retribuzioni	
   assicurate	
   	
   per	
   le	
   retribuzioni	
  
dichiarate	
  sugli	
  infortuni.	
  

In	
  entrambi	
  i	
  casi,	
  il	
  numero	
  di	
  lavoratori/anno	
  	
  viene	
  espresso	
  senza	
  decimali.	
  

	
  

	
  


